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Life Science 

LSE–01 : CELL BIOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Question No. 1 is compulsory. 

 (ii) Attempt any four questions from Q. No. 

2 to Q. No. 6. Draw well labelled 

diagram wherever necessary. 

 

1. (a) Fill in the blanks with appropriate words :  

5×1=5 

 (i) ................ is a complex tissue that 

conducts food materials from leaf to 

other regions of a plant. 

 (ii) 
?

6 12 6 2C H O O ..........  26H O  + energy 

 (iii) Vasopressin hormone is produced by 

............. . 

 (iv) Enzymes ................. the activation 

energy of reaction. 
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 (v) The process of removal of introns is 

called ............. 

(b) Match the following items in Column-I 

with Column-II : 5×1=5 

 Column-I  Column-II 

(i) Autophagy  (a) AUG 

(ii) Initiation 

codon  

(b) RNA 

(iii) Starch (c) Lysosomes 

(iv) Tobacco 

mosaic virus 

(d) Adenine 

(v) Thymine (e) Amylase 

2. (a) Define ketone bodies. Explain, why are 

they considered as alternate fuel for cell. 5 

(b) What is glycogen ? Describe the 

degradation of glycogen with the help of a 

labelled diagram. 5  

3. Differentiate between any four of the  

following  :  4×2
1

2
 =10 

(i) Animal and plant cell 

(ii) Anabolism and catabolism 

(iii) Prophase and metaphase 

(iv) Pseudopodia and filopodia 

(v) Smooth and cardiac muscle  
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4. Draw neat and well labelled diagrams of any 

two of the following : 2×5=10 

(i) Mitochondria  

(ii) tRNA 

(iii) Neuron 

5. Write short notes on any two of the following :  

2×5=10 

(i) Bone 

(ii) Active transport 

(iii) Collagen  

6. Define the term proteins. Explain the 

structural hierarchy of proteins with suitable 

diagrams.   10 
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(i) 

(ii) 

]

5×1=5

(i)  

(ii)  
?

6 12 6 2C H O O ..........  26H O 

(iii) 
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(iv) 

(v) ª

I II

5×1=5 

 I  II

(i) (a) AUG

(ii) (b) RNA

(iii) (c) 

(iv) (d) 

(v) (e) 
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4×2
1

2
 =10 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

2×5=10 

(i) ª

(ii) tRNA

(iii)  

2×5=10

(i) 

(ii) ª

(iii) 
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